* Shaded Area Indicates High Bidder

Advertised # 1 Shin's Pond **Lump Sum**

Attendees: Pat Smith Henry Sullivan Mary Podnar Ed Kelley

Size: 47 acres Contract Length: 2 year

Time & Date of Opening: 9:00AM 10/13/2021 Location: Florence Resource Center

5617 Forestry Drive Florence, WI 54121

			MINIM	MUM BID	Frank	s Logging				
Products	Volume		Bid	Value	Bid	Value	Bid	Value	Bid	Value
Aspen Pulp	950	CDS	\$28.00	\$26,600.00	\$23.10	\$21,945.00		\$0.00		\$0.00
Oak Pulp	65	CDS	\$14.40	\$936.00	\$14.10	\$916.50		\$0.00		\$0.00
Mixed Hdwd Pulp	60	CDS	\$20.00	\$1,200.00	\$16.00	\$960.00		\$0.00		\$0.00
Jack Pine Pulp	1	CDS	\$28.00	\$28.00	\$12.00	\$12.00		\$0.00		\$0.00
TOTAL	1076	CDS		\$28,764.00	Total	\$23,833.50	Total	\$0.00	Total	\$0.00
	0	MBF			10% =	\$2,383.35	10% =	\$0.00	10% =	\$0.00

BELOW MINIMUM

* Shaded Area Indicates High Bidder

6

40

CDS

MBF

\$12.20

\$160.00

\$73.20

\$6,400.00

Fir/Spruce Pulp

Oak Logs

Advertised # 2 **Marm Lake Lump Sum**

Pat Smith Henry Sullivan Mary Podnar Ed Kelley

\$0.00

\$0.00

Attendees:

Size: 68 acres Time & Date of Opening: 9:00AM 10/13/2021 Contract Length: 2 year

Location: Florence Resource Center

\$20.00

\$200.00

5617 Forestry Drive Florence, WI 54121

\$120.00

\$8,000.00

MINIMUM BID Wild Rivers Shamco Products Value Bid Volume Bid Value Bid Value Value Aspen Pulp 600 CDS \$28.00 \$16,800.00 \$35.10 \$21,060.00 \$31.20 \$18,720.00 \$0.00 Oak Pulp \$21.10 180 CDS \$14.60 \$2,628.00 \$3,798.00 \$17.00 \$3,060.00 \$0.00 Jack Pine Pulp \$30.20 \$1,661.00 55 CDS \$28.40 \$1,562.00 \$21.10 \$1,160.50 \$0.00 Mixed Hdwd Pulp CDS \$20.30 \$710.50 \$23.10 \$808.50 \$20.00 \$0.00 35 \$700.00

Mixed Hdwd Logs \$180.00 \$200.00 \$400.00 2 MBF \$360.00 \$150.00 \$300.00 \$0.00 TOTAL 876 CDS Total \$28,533.70 Total \$31,617.60 Total \$32,661.00 Total \$0.00 42 **MBF** 10% = \$ 3,161.76 10% = \$ 3,266.10 10% = \$

\$15.10

\$110.00

\$90.60

\$4,400.00

* Shaded Area Indicates High Bidder

Demolition Ash Salvage

Scale Sale

Advertised # 3

Attendees: Pat Smith Henry Sullivan Mary Podnar Ed Kelley

Size: 97 ACRES Contract Length: 2 year

Time & Date of Opening: 9:00AM 10/13/2021 Location: Florence Resource Center

5617 Forestry Drive Florence, WI 54121

_			MINIMUM BID			Franks Logging		Northwest Hdwds			Wild Rivers Forestry		
Products	Volur	ne	Bid	Value	1	Bid	Value			Value			Value
Ash Pulp	290	CDS	\$ 18.5	50 \$5,365.00	\$	18.00	\$5,220.00	\$	22.00	\$6,380.00	\$	26.35	\$7,641.50
Mixed Hdwd Pulp	25	CDS	\$ 18.5	60 \$462.50	\$	20.00	\$500.00	\$	25.00	\$625.00	\$	26.35	\$658.75
Basswood Pulp	5	CDS	\$ 5.9	2 \$29.60	\$	4.00	\$20.00	\$	10.00	\$50.00	\$	6.10	\$30.50
Ash Logs	150	MBF	\$ 161.0	90 \$24,150.00	\$	200.00	\$30,000.00	\$	250.00	\$37,500.00	\$	150.00	\$22,500.00
Mixed Hdwd Logs	15	MBF	\$ 140.0	0 \$2,100.00	\$	110.00	\$1,650.00	\$	300.00	\$4,500.00	\$	170.00	\$2,550.00
Basswood Logs	4	MBF	\$ 126.0	00 \$504.00	\$	120.00	\$480.00	\$	125.00	\$500.00	\$	110.00	\$440.00
Totals	320	CDS	Total	\$32,611.10	•	Total	\$37,870.00		Total	\$49,555.00		Total	\$33,820.75
	169	MBF				10%	\$9,467,50		10%	\$12,388,75		10%	\$8,455,19

			Briarto	n Logging						
Products	Volur	ne	Bid	Value	Bid	Value		Value	1	Value
Ash Pulp	290	CDS	\$ 10.00	\$2,900.00		\$0.00		\$0.00		\$0.00
Mixed Hdwd Pulp	25	CDS	\$ 10.00	\$250.00		\$0.00		\$0.00		\$0.00
Basswood Pulp	5	CDS	\$ 10.00	\$50.00		\$0.00		\$0.00		\$0.00
Ash Logs	150	MBF	\$ 150.00	\$22,500.00		\$0.00		\$0.00		\$0.00
Mixed Hdwd Logs	15	MBF	\$ 200.00	\$3,000.00		\$0.00		\$0.00		\$0.00
Basswood Logs	4	MBF	\$ 150.00	\$600.00		\$0.00		\$0.00		\$0.00
Totals	320	CDS	Total	\$29,300.00	Total	\$0.00	Total	\$0.00	Total	\$0.00
	169	MBF	10%	\$2,930.00	10%	\$0.00	10%	\$0.00	10%	\$0.00

* Shaded Area Indicates High Bidder

Lump Sum Advertised # 4 Attendees: Jennings Aspen

Pat Smith Henry Sullivan Mary Podnar Ed Kelley

Time & Date of Opening: 9:00AM 10/13/2021 Location: Florence Resource Center Size: 61 acres Contract Length: 2 year

5617 Forestry Drive Florence, WI 54121

			MIN	MUM BID	Fi	ranks	Sh	amco		
Products	Volu	me	Bid	Value	Bid	Value		Value		Value
Aspen pulp	925	CDS	\$ 28.00	\$25,900.00	\$ 34.18	\$31,616.50	\$ 25.10	\$23,217.50		\$0.00
Mixed Hdwd Pulp	170	CDS	\$ 18.50	\$3,145.00	\$ 19.10	\$3,247.00	\$ 15.70	\$2,669.00		\$0.00
Fir/Spruce Pulp	95	CDS	\$ 25.80	\$2,451.00	\$ 11.00	\$1,045.00	\$ 20.00	\$1,900.00		\$0.00
Totals	1190	CDS	Total	\$31,496.00	Total	\$35,908.50	Total	\$27,786.50	Total	\$0.00
					10%=	\$3,590,85	10%=	\$2,778,65	10%=	\$0.00

* Shaded Area Indicates High Bidder

JC Penny Scale Sale Advertised # 5 Attendees:

Pat Smith Henry Sullivan Mary Podnar Ed Kelley

\$0.00

10%

Size: 47 acres
Time & Date of Opening: 9:00AM 10/13/2021
Contract Length: 2 year
Location: Florence Resource Center

5617 Forestry Drive

5617 Forestry Drive Florence, WI 54121

10%

\$0.00

			MININ	IUM BID		Fı	anks				
Products	Volu	me	Bid	Value	t	Bid	Value		Value		Value
Red Pine Pulp	380	CDS	\$ 40.80	\$15,504.00	\$	37.15	\$14,117.00		\$0.00		\$0.00
Aspen Pulp	210	CDS	\$ 23.80	\$4,998.00	\$	23.10	\$4,851.00		\$0.00		\$0.00
Jack Pine Pulp	30	CDS	\$ 23.80	\$714.00	\$	22.00	\$660.00		\$0.00		\$0.00
Oak Pulp	30	CDS	\$ 12.20	\$366.00	\$	24.00	\$720.00		\$0.00		\$0.00
Mixed Hdwd Pulp	20	CDS	\$ 18.30	\$366.00	\$	24.00	\$480.00		\$0.00		\$0.00
Fir Pulp	20	CDS	\$ 11.00	\$220.00	\$	11.00	\$220.00		\$0.00		\$0.00
Totals	690	CDS	Total	\$22,168.00		Total	\$21.048.00	Total	\$0.00	Total	\$0.00

10% \$2,104.80 **BELOW MINIMUM**

* Shaded Area Indicates High Bidder

Patties Motel Aspen Lump Sum Advertised # 6 Attendees:

Pat Smith Henry Sullivan Mary Podnar Ed Kelley

Size: 75 acres Time & Date of Opening: 9:00AM 10/13/2021
Contract Length: 2 year Location: Florence Resource Center

5617 Forestry Drive

5617 Forestry Drive Florence, WI 54121

			MINII	MUM BID	Fı	ranks	Wild	d Rivers	Sh	amco
Products	Volu	me	Bid	Value	Bid	Value		Value		Value
Aspen Pulp	775	CDS	\$ 28.00	\$21,700.00	\$ 23.10	\$17,902.50	\$ 33.41	\$25,892.75	\$ 30.20	\$23,405.00
Mixed Hdwd Pulp	240	CDS	\$ 20.00	\$4,800.00	\$ 18.10	\$4,344.00	\$ 21.21	\$5,090.40	\$ 20.20	\$4,848.00
Oak Pulp	320	CDS	\$ 14.40	\$4,608.00	\$ 12.10	\$3,872.00	\$ 18.10	\$5,792.00	\$ 20.20	\$6,464.00
White Pine Pulp	55	CDS	\$ 16.00	\$880.00	\$ 10.00	\$550.00	\$ 18.21	\$1,001.55	\$ 20.00	\$1,100.00
Red Pine Pulp	10	CDS	\$ 48.00	\$480.00	\$ 30.00	\$300.00	\$ 32.21	\$322.10	\$ 20.00	\$200.00
Spruce/Fir Pulp	15	CDS	\$ 12.00	\$180.00	\$ 10.00	\$150.00	\$ 14.21	\$213.15	\$ 20.00	\$300.00
Mixed Hdwd Logs	3	MBF	\$ 160.00	\$480.00	\$ 100.00	\$300.00	\$ 160.00	\$480.00	\$ 200.00	\$600.00
Oak Logs	2	MBF	\$ 144.00	\$288.00	\$ 100.00	\$200.00	\$ 180.00	\$360.00	\$ 200.00	\$400.00
Totals	1415	CDS	Total	\$33,416.00	Total	\$27,618.50	Total	\$39,151.95	Total	\$37,317.00
	5	MBF			10%=	\$2,761.85	10%=	\$3,915.20	10%=	\$3,731.70

* Shaded Area Indicates High Bidder

Camp 12 Scale Sale Advertised # 7 Attendees:

Pat Smith Henry Sullivan Mary Podnar Ed Kelley

Time & Date of Opening: 9:00AM 10/13/2021 Location: Florence Resource Center Size: 55 acres Contract Length: 2 year

5617 Forestry Drive Florence, WI 54121

			MIN	IIMUM BID	NO	BIDS				
Products	Volu	me	Bid	Value	Bid	Value		Value		Value
Aspen Pulp	20	CDS	\$ 21.00	\$420.00		\$0.00		\$0.00		\$0.00
Mixed Hdwd Pulp	130	CDS	\$ 15.00	\$1,950.00		\$0.00		\$0.00		\$0.00
Spruce/Fir Pulp	40	CDS	\$ 9.00	\$360.00		\$0.00		\$0.00		\$0.00
Black Spruce Pulp	230	CDS	\$ 18.00	\$4,140.00		\$0.00		\$0.00		\$0.00
Cedar Pulp	550	CDS	\$ 6.00	\$3,300.00		\$0.00		\$0.00		\$0.00
Black Ash Pulp	75	CDS	\$ 15.00	\$1,125.00		\$0.00		\$0.00		\$0.00
Tamarack Pulp	140	CDS	\$ 9.00	\$1,260.00		\$0.00		\$0.00		\$0.00
Totals	1185	CDS	Total	\$12,555.00	Total	\$0.00	Total	\$0.00	Total	\$0.00
					10%	\$0.00	10%	\$0.00	10%	\$0.00

2021 FALL TIMBER SALES - FLORENCE COUNTY

Sale #	Sale Name	Contractor	M	inimum Bid	High Bid
1	Shins Pond	Below Minimum	\$	28,764.00	Below Min
	Marm Lake	Shamco	\$	28,533.70	\$ 32,661.00
	Demo Ash	Northwest Hardwoods	\$	32,611.10	\$ 49,555.00
	Jennings	Franks Logging	\$	31,496.00	\$ 35,908.50
2	JC Penny	Below Minimum	\$	22,168.00	Below Min
3	Paties Motel	Wild Rivers Forestry	\$	33,416.00	\$ 39,151.95
4	Camp 12	No Bid	\$	12,555.00	No Bid
	Total		\$	189,543.80	\$ 157,276.45